Name_______________
Date_________

Interpreting slope
1) Determine the slope and y intercept of the equation y = 0.2x – 15. 

Determine if the graph is rising or falling.

2) find the slope of the lines containing these pairs of points (2, 5) and (1, 1) 

[image: image1.png]



Positive-increasing-line rises as we move from left to right 

Negative-decreasing-line falls as we move from left to right 

Undefined-“No slope” –vertical line 

* Zero slope- horizontal line
3) Draw a line with each of the above slopes 
(+, -, NO SLOPE) 

Evaluating Linear Models: Linear functions often model real world applications.
1) The percent of the population voting in presidential elections is given by V (t) = 63.20 - 0.26t, where t is the number of years after 1950.
a. Why is this a linear function? 
b. What is the slope? What does this tell you about the percent of the population voting in the presidential election since 1950?
c. If this rate continues when will no one vote? 
2) For the years 1991-2006, the percent p of high school seniors who have tried cigarettes can be modeled by p = 75.751 – 0.743t, where t is the number of years after 1991. 
a. Is the rate of change of the percent positive or negative? 
b. What was the percent of seniors who tried smoking in 1998?
c. When will seniors no longer try smoking?
3)  An appliance repair store charges $50 for a service call and $75 per hour for each hour spent on the repair. If a linear function models the service call charges, write the equation of the function.
Using this model determine how much it will cost if the repair mans work on your dishwasher for an hour and a half.

4) A business uses straight-line depreciation to determine the value of y of an automobile over a 5-year period. Suppose the original value (when t = 0) is equal to $26,000 and the salvage value (when t = 5) is equal to $1000. 
a. How much has the automobile depreciated over the five years? 
b. What is the value of the automobile at the end of each of the 5 years? 
c. Write the equation that models the value s of this automobile at the end of the year t. 
d. When will the car be worth $500?

6) The monthly premium for a $100,000 life insurance policy for males aged 27-32 are shown in the table below. Write the linear model for the data in the table. 
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b) What can you determine about this linear model?

7) The percent of eligible people voting in presidential elections can be expressed as a linear function of the years 1960-2004. The percent was 63.1 in 1960 and 55.3 in 2004. 
a. What is the slope of the line joining the given points? 
b. What is the average rate of change in the percent voting in these elections? Interpret this value. 
c. Use the slope from part (a) and the percent of people voting in 1960 election to write the equation of the line.
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8) A manufacturing company determines that the total cost in dollars of producing x units of a product is C = 25x + 3500. 

a)   Describe the practical significance of the   y-intercept and slope of this line.

b) Describe the rate of change for this company.

c) How much will it cost to produce 225 products?

d) How many product will it take for the company to lay out $10,000?
9) The cash flow per share for Bausch & Lomb, Inc. was $2.38 in 1988 and $2.80 in 1989.  Using only this information, write a linear equation that gives the cash flow per share in terms of the year. (Hint: Let t = 0 represent 1988)

a) When will the shares be $5.14 each?

b) How much will a share cost in 1993?

10)  Your company has purchased a $12,000 machine that has a useful life of 8 years.  The salvage value at the end of 8 years is $2000.  Write a linear equation that describes the book value of the machine each year.
